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I. Multiple choice (24 points)
1.  At which point should a firm stop hiring workers?

A.  When the wage per worker starts to increase.

B.  When the price of capital starts to decrease.

C.  When the firm’s marginal profit from hiring an additional worker equals the cost of hiring that worker.

D.  When the firm’s marginal gain from hiring an additional worker is zero.

E.  When the firm’s value of marginal product is equal to the price of capital.

2.  How does a profit-maximizing firm that is operating in a competitive labor market respond to an increase in the hourly wage rate?

A.  The firm will demand less capital due to the substitution effect.

B.  The firm will demand more labor due to the substitution effect.

C.  The firm will produce less output due to the scale effect.

D.  The firm will demand more capital due to the scale effect.

E.  Both (A) and (B).

3.  What is not true when thinking of the firm’s problem as a cost-minimization problem rather than a profit-maximization problem?

A.  The slope at any point on any isoquant reveals the marginal rate of technical substitution.

B.  The firm freely chooses labor and capital to minimize its costs.

C.  The firm chooses a particular level of output to produce.

D.  The price of the output good never enters the decision as to how much labor or capital to employ.

E.  The firm will choose labor and capital inputs so that the marginal productivity of labor relative to the marginal productivity of labor capital equals the marginal cost of labor relative to the marginal cost of capital.

4.  In the long run, a decrease in the competitive wage will be associated with which of the following? 

A.  A substitution effect.

B.  A scale effect.

C.  More employment if the wage decrease was a result of a decrease in the demand for labor.

D.  Less employment if the wage decrease was a result of an increase in the supply of labor.

E.  Both (A) and (B).

5.  Which of the following is not a property of standard indifference curves in a leisure-consumption model?

A.  Indifference curves tend to be downward sloping.

B.  Indifference curves intersect one another.

C.  Higher indifference curves (to the northeast) indicate higher levels of utility.

D.  Indifference curves tend to be convex to the origin.

E.  There is an indifference curve passing through every leisure-consumption bundle.

6.  Assuming that consumption and leisure are normal goods, then hours worked will fall when the wage increases if:

A.  The income effect dominates the substitution effect.

B.  The substitution effect dominates the income effect.

C.  If the income and substitution effect move in the same direction (i.e., if they are of the same sign).

D.  If the income and substitution effect move in the opposite direction (i.e., if they are of the opposite sign).

E.  The wage increase is accompanied by an increase in prices.

7.  What would a person do if the market wage is less than his or her reservation wage?

A.  The person will enter the labor market.

B.  The person will work as much as possible.

C.  The person will work more hours as the wage falls further.

D.  The person will be unemployed.

E.  The person will not participate in the labor force.

8.  According to the income effect, an increase in the wage rate will lead the worker to

A.  work more hours if leisure is a normal good.

B.  work fewer hours if leisure is a normal good.

C.  work fewer hours if leisure is an inferior good.

D.  work more hours and leisure more hours.

E.  not change hours worked.

II. True and False (32 points)
Respond to each statement True, False or Uncertain and then justify your response. The justification of your response is the most important part of your answer.
1) If leisure is a normal good, hours of work will increase as nonlabor income increase.
2) If leisure is a normal good, and increase in the price of goods purchases in the marketplace makes a worker to increase hours of work.
3) The derived demand for labor would be less elastic if the supply of capital is highly elastic.

4) Other things being equal, the firm will always hire more workers when the wage falls.
III. Problem (44 points)
1) You can either take a bus or drive your car to work. A bus pass costs $5 per week, whereas driving your car to work costs $60 weekly (parking, tolls, gas, etc.). You spend half-an-hour less on a one-way trip in your car than on a bus. How would you prefer to travel to work if your wage rate is $10 per hour? Will you change your preferred mode of transportation if your wage rate rises to $20 per hour? Assume you work five days a week and time spent riding on a bus or driving a car does not directly enter your utility.
2) Suppose that indifference curves between consumption goods and leisure activities are concave to the origin. How many hours will a person allocate to leisure activities?
3) What happens to the long-run demand curve for labor if the demand for the firm’s output increases? What happens to the long-run demand curve for labor if the price of capital increases? Decompose the changes into scale and substitution effects.[image: image1.png]
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